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falsch richtig
68, 7 v.o. (bm(xk+m (byk+m
68, 8 v.o. b mb,,
72,1 v.o. L 3x und = mal
72, 18 v.0. (x+2)-3z+4) (z+2)- (3 +4)
139, 6 v.o. (¢,0,0) fir t e R (t,0) fiir t # 0.
150, 2 v.o. ag a,ld
153, 1 v.u. 23— 322 +2x -1 23 =222 422 -1
154, 6 v.u. (z — 3)(2? — 4z + 15) (z — 3)(2? — 42 + 5)
157, 2 v.o. ((0,1,-1),(1,0,0),(0,1,-1)) | ((0,1,-1),(1,0,0),(1,0,-1))
157, 10 v.u. (1,a,0) (a,1,0)
6,34 in der Matrix a(c+d) cla+ d)
157, 8 v.u. e—n €n
-1 1 00 1100
6.37, 2 dritte Matrix b 0L b0
0 10 0 01 0
0 1 0 0 01
160, 9 v.o. ap = 16 ag = —16
2 2 -1 2 2 =2
160, 8 v.u. 2 2 -1 2 2 =2
00 O 00 O
161, 1 v.o. Ker(A —1d) Ker(A — 31d)
161, 3 und 4 v.o. (7,4,0) (4,7,0)




falsch richtig
161, 5 v.o. Aley) A%(ey)
161, 5 v.o. A2%(eq) A3(eq)
163, 2 v.u. cT Sp(CT)
164, 8 v.u 72 3(
164, 4 v.u. sin(nz — mx)) sin(nz — mx)
164, 3 1 . 1 u
» o Vel (2n+2m cos((n + m)x)] . + | - (2n+2m cos((n +m)x) . -

165, 10 v.o. SaniTE \%5
166, 10 v.o 1—-4p+1—-p 1—4p+1—-p+1
166, 11 v.o. p=% p=23
166, 11 v.o. (3,-3,-2,5,-2) (7,—-2,-3,5,-3)
166, 12 v.o ﬁ(?” —3,-2,5,—-2) %(7, —2,-3,5,-3)
167, 6 v.o. erzeugt von den Vektoren von dem Vektor
169, 4 v.u. (ba, by (ba, ba)
170, 8 v.o. Grad m Grad 2m
170, 12 v.o. (2n)! (=1)"(2n)!
170, 13 v.o (2n)! (—=1)"*+L(2n)!
173, 7 v.o. a—6b+ 3c a—6b+9c

3 4 1 3 4 1
Aufg 7.26, Matrix 1 -6 3 1 —6 8

-2 4 3 -2 4 3
177, 1 v.o und in der Matrix %\/3 %\/g
181, 15 v.o. (y, A(e;) (y, Aes))

190, 10 v.u.

622432 +92%2 —6y+18z = 62>+
3y—1)%2+9(z+1)>—12

622 +3y° + 922 —6y + 182 — 6 =
622 +3(y —1)* +9(z + 1)* — 18

190,1 v.u.

Einschaliges

Zweischaliges




